Precalculus—Expanding and Condensing Logarithms Circuit Name:

Expand: expand the logarithmic expression

Condense: condense into a single logarithmic expression

_2\5
1. answer: In (%)

Expand: log(n)~®

x4— 7
2. answer: ln( ZZ )

Condense: %(logS x +logsy) —2logs(x + 1)

3. answer: %logx - glogy
y“x/f)

z5

Expand: log,, (

4. answer: In 64(z — 4)°

Condense: 5In(x —2) —In(x + 2) —3Inx

P

5. answer: In (?;)

Condense: 4Inx +7Iny — 3Inz

6. answer: —6logn

Expand: log, ((;/—4)

Expand: log, (x2y)

7. answer: 4 log, y + glogb x — 5logy, z 8. answer: 2logsx — 2logsy — 3logs z
42175

Expand: In =~ (x:;;g Condense: Inx +In7

9. answer: 3 — log, y 10. answer: In 7x

Condense: log, 96 — log, 3




11. answer: 5

Condense: %log x—2logy

12. answer:

1
2+ 3logx +§log(5 —x) —log3 — 2log(x + 7)

Expand: log 3/x3(x2 + 3)

. Vxy 14. answer:
13. answer: logs ((x+1)2) e 1
4lnx -f-Eln(x2 +3) = 5In(x + 3)
Condense: logx + log(x? — 4) —log 15 — log(x + 2) 100x33E=x%
Expand: log (—)
3(x+7)2
15 1221 1 log &
. answer: 2 —-loge(x + 1) 16. answer: log—
— y

Expand: log 3\/%

Condense: %log2 9+ %log2 5+log, x

17. answer: log2(3x\/§)

Condense: 3Inx — élny

18. answer: 2 log, x + log, y

Expand: logg %

x(x=2)

19. answer: log =

Condense: 2In8 + 51In(z — 4)

20. answer: %logx + ilog(x2 +3)

Expand: logs ( al )
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